
Worksheet 11/11/2024 

Normal distribution: a special symmetric, bell-shaped distribution, with a single peak. The 
normal distribution is completely identified by its mean and standard deviation. 

68-95-99.7 rule: about 68%, 95%, 99.7% of data points fall within 1, 2, 3 standard deviations of 
the mean, respectively  

Standard score (z-score) of a data value = the number of standard deviations from the mean 

𝑧𝑧 =
𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑 𝑣𝑣𝑣𝑣𝑣𝑣𝑣𝑣𝑣𝑣 −  𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚
𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠 𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑𝑑

 

Percentile of a data value = the percentage of all data points that are less than or equal to it. 

Scores on the verbal section of the GRE exam have a mean of 150 and a standard deviation of 
8.5. Scores on the quantitative section of the exam have a mean of 152 and a standard deviation 
of 8.9. Assume the scores are normally distributed. 

1) Suppose a graduate school requires (among other qualifications) that applicants score at or 
above the 90th percentile on both exams. What verbal and quantitative scores are required? 

 

 

2) What percentage of students taking the verbal exam score above 160? 

 

 

3) What percentage of students taking the quantitative exam score above 160? 

 

 

4) Scores on the quantitative exam range between 130 and 170. What are the percentiles of these 
scores? 

 

 

5) Scores on the verbal exam range between 130 and 170. What are the percentiles of these 
scores? 



6) Students intending to study arts and humanities in graduate school have a mean score of 150 
on the quantitative exam and a mean score of 157 on the verbal exam. Find the percentile of 150 
on the quantitative exam. Find the percentile of 157 on the verbal exam. 

 

 

 

 

 

 


